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QUESTION 1

Which three options are supported in Oracle Global Trade Management (GTM) when creating a Declaration? (Choose
three.) 

A. One Trade Transaction to many Declarations 

B. One Order Release to one Declaration 

C. One Trade Transaction to one Declaration 

D. Many Trade Transactions to one Declaration 

E. One Order Release to many Declarations 

Correct Answer: ACD 

 

QUESTION 2

Shipment# 10059 is a Multi-Stop shipment with two orders. Both orders are picked up in New York City. One of the
orders is dropped off in Philadelphia, Pennsylvania, and the other order dropped off in Baltimore, Maryland. There is
empty capacity on this shipment for you to add another order (# 1234), which is picking up in Philadelphia and dropping
off in Baltimore. The status of Shipment# 10059 is "SECURE RESOURCES: NOT_STARTED" 

Which shipment planning option should you use to ensure that order release# 1234 is assigned to Shipment# 10059? 

A. Move Order to Existing Shipment 

B. Bulk Plan 

C. Manual 

D. Show Routing Options 

Correct Answer: D 

 

QUESTION 3

Which two statements are true with respect to userID and domain relationship, during a standard OTM installation?
(Choose two.) 

A. The GUEST userID is created in the SERVPROV domain. 

B. The ADMIN userID is created in the DBA domain. 

C. The GUEST userID is created in the PUBLIC domain. 

D. The ADMIN userID is created in the GUEST domain. 

E. The DEFAULT userID is created in the ADMIN domain. 
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Correct Answer: BE 

 

QUESTION 4

Which statement is correct regarding the OTM Parameter Set? 

A. OTM allows more than one Parameter Set, but they must be stored in the PUBLIC domain. 

B. If you want to create a Parameter Set, you must name it "DEFAULT". 

C. OTM allows only one Parameter Set, and it is stored in the PUBLIC domain. 

D. There are less than 30 parameters that can be changed in the Default Parameter Set. 

E. Parameter Sets are mandatory during Bulk planning. 

Correct Answer: B 

 

QUESTION 5

Which option represents Original Invoice Cost field at Shipment? 

A. Contains the initial invoice amount adjusted by any additional charges or invoices that the carrier later sent to you 

B. Total Approved Cost on a sell Shipment 

C. The Initial invoice amount received from the carrier 

D. Total Actual Cost minus the rebate amount as defined in the Secondary Charge Rules 

Correct Answer: C 

 

QUESTION 6

Your customer has US and German orders. 

How do you set up a User role in Global Trade Management (GTM) with read/write access for US orders, and only read
access for German orders? 

A. Access can be controlled by using VPD profile along with External Predicates. 

B. Access can be controlled by using Access Control List and assigned to User Role. 

C. Assign multiple User Role grants in User Role. 

D. Assign multiple User Roles while creating the user. 

Correct Answer: D 
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QUESTION 7

Which rate component defines how transportation time will be calculated for the Rate? 

A. Rate Service 

B. Rate Distance 

C. Rate Record 

D. Rate Lane 

E. Rate Offering 

Correct Answer: B 

 

QUESTION 8

Which are the two ways in which Milestones differ from Agents? (Choose two.) 

A. Milestones may be made up of one or more Agents. 

B. Milestones monitor for a condition to occur, whereas Agents only start and stop based on a time-based schedule. 

C. Milestones may be both "reactive" (for example, they monitor for a condition to occur) and "proactive" (for example,
they can initiate before, at, or a prescribed number of times after a condition occurs). 

D. Agents monitor for a condition to occur, whereas Monitors only start and stop based on a time-based schedule. 

E. Agents may be made up of one or more Milestones. 

Correct Answer: AC 

 

QUESTION 9

When creating a new Declaration type in Global Trade Management (GTM), which three processes may need to be
configured depending on the requirements of the local customs authority? (Choose three.) 

A. Set up a License Code that defines whether a license is incremented or decremented for the Trade Transaction. 

B. Set up a data configuration that defines the data required to be copied from the Transaction onto the Declaration. 

C. Define a constraint set with grouping criteria that identifies how to combine Trade Transactions into a Declaration. 

D. Create aggregation criteria that consolidate Transaction Lines, based on parameters such as tariff 

code or country of origin, into fewer lines on the final Declaration. 

Correct Answer: ABD 

 

QUESTION 10

1Z0-1079-20 PDF Dumps | 1Z0-1079-20 VCE Dumps | 1Z0-1079-20 Study Guide                                4 / 5

https://www.pass2lead.com/1z0-1079-20.html
https://www.pass2lead.com/1z0-1079-20.html
https://www.pass2lead.com/1z0-1079-20.html


https://www.pass2lead.com/1z0-1079-20.html
2023 Latest pass2lead 1Z0-1079-20 PDF and VCE dumps Download

Which three statements are true about Regions in Global Trade Management (GTM)? (Choose three.) 

A. Regions created in the UI need to be formulated. 

B. Regions can be directly used after being created by a user in the UI. 

C. Regions cannot be directly used after being uploaded by a CSV file. 

D. Regions uploaded by a CSV file need to be formulated. 

E. Regions can be directly used after being uploaded by a CSV file. 

Correct Answer: ADE 
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